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BEES Rt X HEE(H) =
1| R 1,815,000
200EXEET 957,500
3|ERBETH 1,950,000
4{ILELTH 3,285,000
5| KA™ 1,000,000
6|ZE W TH 5,034,000
17 IVTAH 3,930,000
8|dL4tth 16,277,500
9| 1,125,000

10| IR 2,851,000
1| EERE™ 3,250,000
12| BT 5,741,500
13| R 315,000
14| 1| =48RBT 1,485,000
15| &I &T 1,110,000
16| 5 ZEHT 7,400,000
17| &R HET 3,777,500
18[= L )IIET 2,862,500
19| EEFT 1,650,000
20| Fa 4T 892,500
21 (B EHH 562,500
22| LU A%t 375,000
23 (ISR 44 1,500,000
24| LA O BT 3,114,500
25(/NEF 547,500
26| FHR LA 1,090,000
27%1%E$%:7H%% 1,500,000
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